

# **Disaster Management Policy**

### Table of Contents

Sl no	Items	Page #
1.	Background of PCC&MEC	2-3
2.	Climate history of Bangladesh	2-3
3.	Experience of PCC&MEC:	4-5
4.	SWOT Analysis	6
5.	Details Disaster Policy	6
6.	Goal of the Policy	6
7.	Purpose	7
8.	Activities	7-8
9.	Relief and Rehabilitation Strategy	9-11
10.	Contents and Price of survival package for 15 days of a single	12
	family	
11.	Disaster Preparedness and Contingency Budgeting	13-18
12.	Food/Disaster affected information .format	19-21

## Acknowledgement

Population Crisis Control & Mass Education Committee (PCC & MEC) is a non-profit, nonpolitical, and non- Government voluntary organization came into appearance in 1985. It is committed to help in changing socio-economic and health status of the local poor specially the deprived women and destitute children of the poor families of its working areas. A group of civic-minded men and women of Khulna area established it who closely found the measurable condition of the local poor living in the poverty brackets. The organization realizes the socio-economic problems of the poor people and believes in their potential for overcoming the problems by their own efforts.

PCC&MEC Bangladesh have experienced in implementation of flood related activities in 1996, 1998, 1999, 2000, 2004 by the assistance of different donors and its own fund. As PCC&MEC have practical experience on relief and rehabilitation activities in several years during disaster period, so PCC&MEC feels to prepare a disaster policy.

Reviving this, PCC&MEC have prepared this Disaster Management Policy covering January 2006 to Dece4mber 2008 with the objective of the policy is access of adequate survival supports, rehabilitation supports and post flood supports who are suffering in disasters. The policy contents are ; Goal of the Policy, Purpose, Formation of Disaster Management Committee, Information Collection, Prioritization of problems and needs to be addressed, Plan of Relief Supports, Rescue Operation, Ware House, Relief Distribution, Rehabilitation, Liaison with Govt. and Local Administration, Relief and Rehabilitation Strategy, contents and price of survival package for 15 days of a single family, Disaster Preparedness and Contingency Budgeting, Food/Disaster affected information .etc.

I am giving my heartfelt gratitude to the staffs concerns whose efforts are getting these results as a policy paper on Disaster Management Policy.

The policy will be helpful for all concern and organization also.

Again, I am grateful to all concerns.

( Mirza Shamim Reza) Executive Director

#### **1. Introduction:** Background of PCC&MEC:

**PCC&MEC,** as a Non-profit Voluntary Social Development Organization, established in 1985 with the initiative of a group of educated social workers of Khulna. Since its inception, it has been working for the human and socio-economic development of the poor and disadvantaged people particularly women and children at grass-roots level.

At present **PCC&MEC** has undertaken different development program for making the targeted people particularly women and children capable, self sufficient and self-initiators by building capacity, institution, capital and utilization of local resources.

#### Some of the major areas of focus of the PCC&MEC a

- Development Projects
- Disaster management
- Survey / Research work
- Education (Human Resource Building)
- Renewable Energy
- Rehabilitation /Resettlement
- Water And Sanitation
- Capacity Building, Training and Workshops
- Consultancy
- Fisheries and livestock
- Mother and child Health care

#### Vision and Mission of PCC&MEC VISION OF THE ORGANIZATION:

PCC & MEC's vision is to ensure and enhance country (Bangladesh) for all peoples including men, women, adolescent, children's bearing disabled, atheistic ,vulnerable, climate refugees, elderly peoples in respect of families, cast, religion and harmony where all will enjoy their equal rights and dignities.

#### **MISSION STATEMENT:**

Work with those poor people who have less access and unserved and undeserved in the operational areas, organized and provide them demand driven support, mobilize local resources, contribute sustainable development ensuring quality services and also ensure people

GOAL:

Socio-economic development and human rights establish of the targeted peoples through increasing purchasing capacity enabling social participation and empowerment.

#### **Objectives of PCC&MEC**

As a visionary organization working in the development sector PCC&MEC has many enlightening objectives that reflect its vision and mission as an organization. Apart from its general organizational objectives, PCC&MEC formulates specific objectives for its different development projects. The general organizational objectives of the organization are illustrated below:

- To be established as a transparent, efficient and visionary national Non Government Organization in the NGO sector of Bangladesh
- To actively and voluntarily participate in multidimensional development projects focusing on poverty alleviation, disaster management, rehabilitation, rural health, literacy, livelihood sustenance, infrastructure development and other social issues.
- To build and disseminate awareness regarding different societal problems such as crime, illiteracy, environmental degradation, malnutrition, natural calamities, safe water & sanitation etc.
- To work effectively for building a safer and pollution free environment characterized by an ecologically stable habitat in rural and urban Bangladesh
- To come up with innovative project designs and ideas to address these multidimensional social issues in the context of Bangladesh.
- To facilitate innovative and practical ICT tools that will aid these development activities
- To share management expertise and know-how with partner organizations in order to facilitate coordinated development efforts
- Make ensure of children's rights in projects and programs in respect of gender issues for bringing equal rights and opportunities.
- To provide constructive consultancy and organizational expertise to the partner organizations and clients
- To actively work as a complementary force alongside the government initiatives of Bangladesh, by obliging to the legal regulations of the Government of Bangladesh.

#### Climate history of Bangladesh:

Bangladesh has a tropical monsoon -type climate, with a hot and summer and a dry winter. January a the coolest month with temperatures averaging near 26 deg C (78 d F) and April the warmest with temperatures from 33 to 36 deg C (91 to 96 deg F).The climate is one of the wettest in the world. Most places receive more than 1525mm of rain a year, and areas near hills receive 5085 mm. Most rains occur during the monsoon (June-September) and little in winter (November- February). Bangladesh is subject to devastating cyclones, originating over the Bay of Bengal, in the periods of April to May and September to November. Often accompanied by surging waves, these storms can cause great damage and lost of life. The cyclone of November 1970, in which about 500000 lives were lost in Bangladesh, was one of the worst natural disasters of the country in the 20<sup>th</sup> Century.

Bangladesh has warm temperatures throughout the year, with relatively little variation from month to month. January tends to be the coolest month and May the warmest. In Dhaka the average January temperature is about 19 deg(about 66 deg F) and the average May temperature is about 29 deg C ( about 84 deg.F).

The average rainfall varies from a maximum of 5690mm in the northeast of the country to minimum of 1110mm in the west. The ground water however provides adequate storage of to compensate for annual variation in rainfall and stream flow. The average annual discharge from the three major rivers -a total of 3500 cusec is second only to the Amazon. The carry billions of tons of sediments loads every year.

As it is situated in tropics, the country is prone to cyclones associates with tidal surges, especially in the pre-monsoon and post mon-soon months. Because of hi density of population in the flood deltaic coastal region, the lost of human life in such cyclones has at time been very heavy.

The country experiences a hot summer of high humidity from late March to late June, a some hot cooler but still hot and humid monsoons from late June through October and cool dry winter from November to the end of February. Day tem0perature ranges from 7 to 12 deg C in the cool months and in the other months is varies between 23-30 deg C.

#### Experience of PCC&MEC:

**PCC&MEC** have experienced in implementation of flood related activities in 1996, 1998, 1999, 2000, 2004 by the assistance of different donors and its own fund.

In 1996, **PCC&MEC** distributed relief goods among the tornado victim people at Satkhira at Khulna. That time heavy tornado and storm at Satkhira and destroyed more than 2500 house holds, cattle's, crops and other means. **PCC&MEC** ,that time gave survival supports like dry foods, shelter, medical supports, cloths and others necessary supports and

services.

In 1998 there have floods in the Dacope, Dumuria, Moheskhali of Chittagong areas affected more than m10000 peoples with their houses, shelters, cattle's, crops and other means. **PCC&MEC**, that time gave survival supports like dry foods, shelter, medical supports, cloths and others necessary supports and services.

In 1999 **PCC&MEC** distributed relief goods among the havoc flood victim people at Dacope Sadar, Sutorkhali, laudob at Dacope. That time flood destroyed houses, crops and others means of more than 8500 families. **PCC&MEC**, that time gave survival supports like dry foods, shelter, medical supports, cloths and others necessary support and services.

In 2000, since, 22<sup>nd</sup> Sept'2000 heavy rainfall and onrush river water causes devastating flood inundated vast area which affected the people with their shelter crops wealth and other life need necessities. The flood affected people became shelter-less and took shelter in School, Colleges, Madarashas, road side on the trees and roof of buildings without necessary food and means. The people of the affected are have ever been experienced such flood because this flood has come from river erosion near by countries. The flood affected the people of Dumuria, Dacope and gradually spreader to the south-western districts in Bangladesh. The flood situation has turn an alarming situation which need immediate survival support for their livelihood. Considering the inclement disaster, PCC&MEC conducted with DFID/BPHC for assisting among the flood affected people. DFID/BPHC took this as seriously and came forward for help. Initially DFID/BPHC grant assistant among 1000 people of Sutarkhali with 15 days food in the 1<sup>st</sup> time and after distributing the foods to the people another grant with dry food and accessories distributed among another 1000 families. After completion of emergency relief activities, DFID/BPHC extent their rehabilitation support for the most destroyed people who have lost their all means. Workers of PCC&MEC tried their best to fulfill the Programme activities.

In 2000, **PCC&MEC** also got assistance from CARE-Bangladesh. CARE- Bangladesh provided relief supports more than 60000 families along with survival packages, safe water, foods, cloths, polithene, candle etc in the Sutarkhali and Laudob of Khulna, all Unions of Dumuria under Khulna district. Besides those **PCC&MEC** also got relief and rehabilitation supports from CDD, Handicap-International, CIDA etc.

The devastating and terrible flood 2004 which occurred and has inundated the 42 districts of Bangladesh which pave a great lost of 4 crore people including damage of their wealth, shelter, crops, livestock's, necessary foods and all means. The number of victims people of the flood area are so a high that relief goods need more people in the victim area. People in the remote area of Faridpur district are also suffering of relief goods. Local GoB and other organization has distributed relief goods among the flood victims people as on their capability which are not enough to meet the need of the flood affected people. So, to meet the needs of suffering people of Faridpur district, **PCC&MEC** distributed relief among the victim peoples.

#### SWOT Analysis:

#### Strength:

- 1. Organized and capable staffs;
- 2. Well-Established Branch offices;
- 3. Separate disaster Management cell;
- 4. Organizational covering area in 32 districts;
- 5. Trained staffs on Disaster Management;
- 6. Storage facilities at all level;
- 7. Computer;
- 8. Email;
- 9. Telephone/Mobile, Fax;
- 10. Transport facilities;

#### Weakness:

- 1. All staffs are not trained on Disaster Management;
- 2. Sufficient fund is not available for disaster management;
- 3. Lack of Water-Boat, life Jacket, Pick-up Van, Speed Boat;
- 4. Insufficient training curriculum on disaster management;
- 5. Lack pf pre-cautionary signals systems at grassroots level;

#### **Opportunities:**

- 1. Scope of local fund raising capacity;
- 2. Organized peoples at grassroots;
- 3. Linkage with GOB, Local Administrations and Peoples Representatives;
- 4. Donor linkages;

#### Threats:

- 1. Scattered areas;
- 2. Donor funding constraints;

#### 3. Less awareness among people on disaster preparedness and management;

#### **Details Disaster Policy:**

As **PCC&MEC** have practical experience on relief and rehabilitation activities in several years during disaster period, so **PCC&MEC** feels to prepare a disaster policy . Details of the policy are given below:

#### Goal of the Policy:

Save people from disasters their shelter, rehabilitations and means.

#### Purpose:

Access of adequate survival supports, rehabilitation supports and post flood supports who are suffering in disasters.

#### Activities:

#### Formation of Disaster Management Committee:

As Bangladesh is disaster prone are, so **PCC&MEC** have formed a Disaster Management Committee as follows:

- Convener: Executive Director
- Member: Deputy Executive Director
  - Director,Program
    - Deputy Director, Program
    - Finance Coordinator
    - Medical Officer
    - Admin. Officer
    - **Program Coordinators**

The committee will seat together for liaison and maintenance the activities.

#### Information Collection:

Information will be collected through observation, Medias, other secondary sources like Peoples Representatives, Government statistics and departments, local leaders, Baseline Survey, household Survey by own workers etc.

#### Prioritization of problems and needs to be addressed:

After collecting information, worst sufferer areas to be prioritize for need based support.

#### Plan of Relief Supports:

Disaster Management Committee will prepare a contingency plan after getting necessary information's. This plan would covered area prioritize, activities ,manpower involve, training to manpower, procurement of goods, seeking donors, resource mobilization by creating own fund collecting local donation, National and international donors, Networks, GoB etc.

#### **Rescue Operation:**

After getting information rescue operation with help of government and others peoples, private agencies would be involved in safe places.

#### Ware House:

**PCC&MEC** has a minimum DMR fund for emergency relief supports to the victimized peoples. Ware houses at central level and concern area level would be opened for distribution and maintain emergency materials. All the necessary materials would be kept in the ware houses.

#### **Relief Distribution:**

Necessary Survival packages may be dry food, cloths, shelter, water, medical supports and other means to be distributed among the sufferers. Relief distribution priorities will be women, children, disable, pregnant and lactating mothers, elderly people, orphanage.

#### **Rehabilitation Supports:**

After relief supports, rehabilitation supports like shelters, sanitation, agriculture, medical treatment, road maintenance, reconstruction of infrastructures, safe drinking water, employment opportunity etc would be give as on needs.

#### Liaison with Govt. and Local Administration:

**PCC&MEC** will make liaison and coordination with Government and different stakeholders for proper management of relief and rehabilitation activities.

#### **Reporting and Recording:**

All the performed activities would be covered proper recording and reporting and will send to the concern donors, govt. authority and others.

Warehouse Building and maintenance:

#### Relief and Rehabilitation Strategy:

The following strategies will be taken for proper management of disaster.

Activities	Strategies	Comments
Formation of Disaster	Disaster Management Committee will act as an emergency basis. When disaster related information come ,the	
Management	committee will seat together. Seating Coram will be at least	
Committee	one third of the total members. This committee will make	
	sub- committee for smooth operation of the assigned	
	activities.	
	Convener: Executive Director	
	Member : Deputy Executive Director	
	Director, Program	
	Deputy Director, Program	
	Finance Coordinator Medical Officer	
	Admin. Officer	
	Program Coordinators The committee will seat together for liaison and	
	maintenance the activities. Every week the committee will	
	seat together for follow-up of activities.	
Information	Information will be collected through observation by local	
Collection	staffs, Medias as news papers, TV, radio, other secondary	
concotion	sources like Peoples Representatives, Government statistics	
	from UNO/ Union Parishad and departments, local leaders,	
	Baseline Survey by using readymade format, household	
	Survey by own workers etc. After collection of survey and	
	information it will be edited and compiled thoroughly and	
	send to concern authority.	
Prioritization of	After collecting information of worst sufferer areas to be	
problems and	prioritize for need based support. It will be discussed in the	
needs to be	DMC and area to be select.	
addressed		
Plan of Relief	Disaster Management Committee will prepare a	
Supports	contingency plan after getting necessary information's. This	
	plan would covered area prioritize, activities ,manpower	
	involve, training to manpower, procurement of goods,	
	seeking donors, resource mobilization by creating own fund	
	,collecting local donation, National and international	
	donors, Networks, GoB etc. Specific area and works to be	
Dessus	distributed among the skilled staffs.	
Rescue	After getting information rescue operation with help of	
Operation	government and others peoples, private agencies would be	
	involved in safe places. Boat, Van and others transport will	
	be used in the rescue operations.	
Ware House	<b>PCC&amp;MEC</b> have minimum DMR fund for emergency relief supports to the victimized peoples. Ware houses at central	
	supports to the victimized peoples. Ware nouses at central	

		· · · · · · · · · · · · · · · · · · ·
	level and concern area level would be opened for distribution and maintain emergency materials. All the necessary materials would be kept in the ware houses. Area and central level control policy would be applied for	
	warehouse management.	
Procurement Policy	<b>PCC&amp;MEC</b> own procurement policy as defined in the Accounting Manual would be followed in this regards.	
Relief Distribution	Necessary Survival packages may be dry food, cloths, shelter, water, medical supports and other means to be distributed among the sufferers. Relief distribution priorities (Women, children, disable, pregnant and lactating mothers, elderly people, orphanage).Shelter place and remote areas will be preferred.	
Rehabilitation Supports	After relief supports, rehabilitation supports like shelters, sanitation, agriculture, medical treatment, road maintenance, reconstruction of infrastructures, safe drinking water, employment opportunity etc. Donors supports will be seek for rehabilitation support.	
Liaison with Govt. and Local Administration	<b>PCC&amp;MEC</b> will make liaison and coordination with Government and different stakeholders for proper management of relief and rehabilitation activities. District and Upazila level meeting and regular coordination will keep close in this regards.	
Capacity Building Training of Staffs	All the management and field level staffs will bring under disaster management training by batch wise and unit based as on developed curriculums and also from outside.	
Reporting and Recording	All the performed activities would be covered proper recording and reporting and will send to the concern donors, govt. authority and others. MIS,M&E will be developed for controlling relief and rehabilitation activities.	

#### Contents and Price of survival package for 15 days of a single family:

Contents	Quantity per pack	Estimated price (Tk.)	Total (Tk.)
Rice	30kg	15	450
Potatoes	3kg	12	36
Pulses	4kg	42	168
Soybean oil	1 lt.	42	42
Salt	1.5 kg	10	15
Total-		121	711

#### Cooking and Lighting:

#### **Utilities:**

Each family will get candle, match, and others.

## Medicine per family:

Tab. Paracetamol 20pcs.x .40	= 8
Tab. Entacid 20pcs. x .50	= 10
Tab. Histasin 20pcs. x .25	= 5
Tab. Metronidazal 20pcs x .50	= 10
ORS 5 packet x 2.60	= 13
Water purified tab. 20pcs.x .50	= 10
	= 56
Others:	
Polythin 500kg x Tk. 65	=32500
Materials 500 x Tk. 100	=5000
Cloths and shelter materials	=2000

#### Disaster Preparedness and Contingency Budgeting:

SL #	Specification	2006	2007	2008	Total	
					Donor	PCC&MEC
1.	Salary with bonus: Project Coordinator-1 1p x 6000/= x 38m	76000.00	76000.00	76000.00	0	228000.00
	Assistant Project Coordinator-1 1p x 4000/= x 38m	50666.00	50667.00	50667.00	152000.00	0
	Community Development Worker-5 5px 3000/= x 38m.	190000.00	190000.00	190000.00	570000.00	0
	Physiotherapist-1 1p x 6000/= 38m.	76000.00	76000.00	76000.00	228000.00	0
	Nurse-1 1p x 4000/= x 38m.	50666.00	50667.00	50667.00	0	152000.00
	Computer Operator-1 1p x 3000/= x 38m.	38000.00	38000.00	38000.00	0	114000.00
	Accountant-1 1p x 3000/= x 38m.	38000.00	38000.00	38000.00	0	114000.00
	Peon-1 1p x 2000/= x 38m.	25333.00	25333.00	25334.00	0	76000.00
	Ауа-1 1p x 2000/= x 38m.	25333.00	25333.00	25334.00	0	76000.00
	Sub total:-	569998.00	570000.00	570002.00	950000.00	760000.00

SL #	Specification	2006	2007	2008	Tota	
					Donor	PCC&MEC
2.	Training:					
	- Staff basic training 14 x 200/= x 3d.	8400.00	0	0	8400.00	0
	- Refreshers course-1 14p x 200/= x 3 d.	0	8400.00	0	8400.00	0
	- Workshop –3 3 nos. x 50p x 150/=	7500.00	7500.00	7500.00	22500.00	0
	- Need based and skill training for disable's parents 150p x 100/= x 3d.	22500.00	22500.00	0	45000.00	0
	Sub total:-	38400.00	38400.00	7500.00	84300.00	0
3	Motorcycle/Bicycle					
	- Motorcycle –01 1 nos. x 100000/=	100000.00	0	0	0	100000.00
	- Bicycle –10 5 nos. x 4000/=	20000.00	0	0	20000.00	0
	Sub-total	120000.00	0	0	20000.00	100000.00
4.	Furniture/fixture:					
	- Office Rent-01 1 nos. x 5000/= x 36m	60000.00	60000.00	60000.00	0	180000.00
	- Gonokendra Rent –06 3 nos. x 500/= x 36m	18000.00	18000.00	18000.00	54000.00	0
	- Table- 3 x 3c x 1000/=	9000.00	0	0	9000.00	0
	- Benches - 6 x 3c x 300/=	5400.0	0	0	5400.00	0
	- Black Board- 3 x 300/=	900.00	0	0	900.00	0
	- Duster - 2 x 3c x 10/=	60.00	0	0	60.00	0
	- Sign board- 3 x 300/=	900.00	0	0	900.00	0
	- Center support/operational cost 3c x 200/= x 36	7200.00	7200.00	7200.00	21600.00	0
	Sub total:-	101460.00	85200.00	85200.00	91860.00	180000.00

SL #	Specification	2006	2007	2008	Total	
					Donor	PCC&MEC
5.	Reading materials:					
	- Daily paper-60 x 36m x 3c x 10/=	21600.00	21600.00	21600.00	64800.00	0
	- Magazines, news-letter, promotion	32400.00	32400.00	32400.00	97200.00	0
	books/ booklets					
	30 nos. x 36 x 3c x 30/=					
	- Register Khata- 2 x 3c x 30/=	180.00	0	0	180.00	0
	Sub total:-	54180.00	54000.00	54000.00	162180.00	0
6.	Credit operation:					
	- Credit distribution- 150p x 2000/=	150000.00	150000.00	0	300000.00	0
	Sub total:-	150000.00	150000.00	0	300000.00	0
7.	Others:					
	- Musical instruments- 3 x 6000	18000.00	0	0	18000.00	0
	- Sports and games- 3 x 1000	3000.00	0	0	3000.00	0
	- Day observation- International Disable	6000.00	6000.00	6000.00	18000.00	0
	Day and World White Cane days					
	6 days x 3000					
	Sub-Total	27000.00	6000.00	6000.00	39000.00	0

8.	Eye camp	0	100000.00	0	100000.00	0
	1 camps x 100000					
	Sub-Total	0	100000.00	0	100000.00	0
9.	Disable Rehabilitation Center establish-ment in its hospital per month 20000 20000/ x 36	240000.00	240000.00	240000.00	720000	0
	Sub total:-	240000.00	240000.00	240000.00	720000	0
10.a	Assisted Devices for physical disable: - Standing table 10 nos. 10 nos. x 2600	26000.00	0	0	26000.00	0
	- Tailor braise 25 nos. 10 nos. x 400/=	4000.00	0	0	4000.00	0
	- Surgical Collar 50 nos. 25nos. x 100/=	2500.0	0	0	2500.0	0
	- Plastic hand gloves 50 nos. 25 nos. x 100/=	2500.00	0	0	2500.00	0
	- Cok-up Splint		0	0		0
	- Roasting Splint 25 nos. 25 nos. x 400	10000.00	0	0	10000.00	0
	- Dynamic Splint 100 nos. 100 nos. x 55/=	5500.00	0	0	5500.00	0
	- Long braise with shoe 50 nos. 25nos. x 220/=	5500.00	0	0	5500.00	0
	- Short leg braice 50 nos 50 nos. x 200	10000.00	0	0	10000.00	0
	- Fixed braice – 10 nos. 5nos. x 2000/=	10000.00	0	0	10000.00	0
	- Plastic foot back slab- 100 nos. 100 nos. x 50/=	5000.00	0	0	5000.00	0
	- Middle bar strap -100n 100 nos. x 77/=	7700.00	0	0	7700.00	0

	- Artificial hand –5 nos. 5 nos. x 850/=	4250.00	0	0	4250.00	0
	- Artificial leg (upper)- 10 nos. 10 nos. x 3000	30000.00	0	0	30000.00	0
	- Artificial leg (lower)- 10 nos. 10 nos. x 2000	20000.00	0	0	20000.00	0
	- Surgical shoe- 50 nos. 50 nos. x 350	17500.00	0	0	17500.00	0
SL #	Specification	2006	2007	2008	Tota	1
					Donor	PCC&MEC
	- Exilary crutch 25 nos. 25 nos. x 350/=	8750.00	0	0	8750.00	0
	El-bow crutch- 25 nos. 25 nos. x 300	7500.00	0	0	7500.00	0
	- Walking stick – 50 nos. 50 nos. x 150/=	7500.00	0	0	7500.00	0
	- Hand stick- 25 nos. 25 nos. x 200	5000.00	0	0	5000.00	0
	- White cane – 50 nos. 50 nos. x 200	10000.00	0	0	10000.00	0
	- Tripod- 10 nos. 10 nos. x 400/=	4000.00	0	0	4000.00	0
	- Walking trace 10 nos. 10 nos. x 700	7000.00	0	0	7000.00	0
	- Baby walker- 25 nos. 25 nos. x 500/=	12500.00	0	0	12500.00	0
	- Tralli- 2 nos. 2 nos. x 4000	8000.00	0	0	8000.00	0
	- Wheel chair 2 nos. 2 nos. x 5000	10000.00	0	0	10000.00	0
	- Feeding belt- 100 nos. 100 nos. x 15/=	1500.00	0	0	1500.00	0

- Coors seat- 5 nos.	2500.00	0	0	2500.00	0
5 nos. x 500/=					
- Riding Splint – 25 nos.	3000.00	0	0	3000.00	0
25 nos. x 120/=					

	Sub-total	247700.00	0	0	247700.00	0
SL #	Specification	2006	2007	2008	Total	
					Donor	PCC&MEC
b.	Assisted devices for Eye sighted disabilities:		0			0
	- Abacas- 10 sets	2000.00		0	2000.00	
	10 sets x 200					
	- Traile set -25 sets	2500.00	0	0	2500.00	0
	25 sets x 100/=					
	- Braille writing slate-2 sets	1200.00	0	0	1200.00	0
	2 sets x 600					
	- Adaptation toys-10 sets	5000.00	0	0	5000.00	0
	10 sets x 500/=					
	Sub-total	10700.00		0	10700.00	0
с.	Assisted devices for hearing disabilities	35000.00	0	0	35000.00	0
	- Hearing aid-5					
	5 nos. x 7000/=					
	- Ear Mould –5	15000.00	0	0	15000.00	0
	5 nos. x 3000/=					
	Sub-total	50000.00	0	0	50000.00	0
d.	Assisted devices for dump disabilities	12500.00	0	0	12500.00	0
	- Picture board					
	25 nos. 500/=					
	- Pocket diary –25	5000.00	0	0	5000.00	0
	25 nos. x 200/=					
	Sub-total	17500.00	0	0	17500.00	0

Ground Total	1626938.00	1243600.00	962702.00	2793240.00	1040000.00

## Flood/Disaster affected information :

Dis	strict	Affected upazila	Affected	Affected	Affected	Affecte	Affected	Death number	Loss of	Loss of poultry
			ion	ge		es				
					(sq. km)					
	1	2	3	4	5	6	7	8	9	10

House	House		Crops (acre) E		ication	Road (Km)		Bridge/ Culvert		Water & sanitation		Diarrhea	No of
				titution								se	l team
Fully	Partly	Fully	Partly	Fully	Partly	Fully	Partly	Fully	Partly	Tube-well	Latrine		
11	12	13	14	15	16	17	18	19	20	21	22	23	24

# বন্যায়/দুর্যোগ এ স্কয়স্কৃতি তথ্য

ডেলার নাম ঃ

জঃ বং	উপডেলা	<b>ୖ</b> ଟିଓିବिয़त्वित वास	গ্রাম সংখ্যা	মোটি ডবসংখ ্য	স্টুতিগ্রস্থ ডবসংখ্যা	স্টাতিগ্রস্থ পরিবার	শ্চতিগ্রস্থ ফসলী ডামি (একর)

	উপ েজলা	স্থ চ	কলেজ	ਗ਼ਲ਼ਖ਼ਗ਼ਲ਼	পুকুর (একর)	টিউবয়ে ল	ଟ୍ୟୀର୍ଣ୍ରିଗ	ব্রোগাক্রান্দ্র	দ্বৃত সংখ্যা দানুয	দৃত সংখ্যা হাঁস− ন্নুৱগী	মৃত সংখ্যা গবাদী পণ্ড

# বন্যায় স্কয়স্চতি তথ্য

জঃ বং	উপজেলা	গ্রাম সংখ্যা	মোর্ট ডবসংখ্যা	পুর্রুষ	ମ୍ପହିମା	শিশ্ত	স্ঞতিগ্রস্থ জনসংখ্যা	মোট পরিবার	শ্ডতিগ্রস্থ পরিবার	শ্চুতিগ্রস্থ ফ্রসলী ডান্নি (হেঃ)
			0,001,01						1998	

উপজেলা	ঙ্গুল	কলেড	ਗ਼ਲ਼ਖ਼ਗ਼ਲ਼	পুকুর (একর)	টিউবয়ে ল	ଟ୍ୟୀର୍ଣ୍ରିଗ	ব্রোগাক্রান্দ্র	দ্বৃত সংখ্যা দানুষ	দৃত সংখ্যা হাঁস− মুুুুুর্গী	মৃত সংখ্যা গবাদী পণ্ড

# (wcwmwm GÛ GgBwm)

## evox bs 180, †ivW bs 12, ‡mvbvWvsMv AvevwmK GjvKv, Lyjbv-9000 ‡dvbt041-723585,‡gvevBjt880-1728299999

ইমেইলঃ pcc\_mec@yahoo.com

বন্যায় /দূর্যোঁগ স্কয়স্ঠতির পরিমান নির<sup>ু</sup>পণ

ଥାता	ডেলা ঃ
୦ । ଅତିଥ୍ୟୁତ୍ତ ଥିୱିବିୟାରେ ଗାମ	8
୧। ଅତିଥ୍ୟୁତ୍ରଆମେଣ ଗାମ	8
৩। শুতিগ্রস্ডপরিবারের সংখ্যা	8
৪। স্তুতির ধরন বাড়ীঘরের সংখ্যা মৃতের সংখ্যা স্তুতিগ্রস্ডশস্যের পরিমান (আনুমানিক) স্তুতিগ্রস্ডগবাদি পণ্ডর সংখ্যা	8 8 8 8
৬। ডাইরিয়া আজ্রান্ড (১) পুর <sup>=</sup> স্ত (সংখ্যা) (২) মহিলা (সংখ্যা) (৩) শিশু (সংখ্যা)	8 8 8 8
৬। ত্রান সংক্রান্ডতথ্যাবলী কোন কোন সংস্থা ত্রান কর্মকান্ড পরিচালনা করেছে বা করছে করে থাকলে	8
ଭାଗ সାନ୍ଧମ୍ରିଣ ଧଣଗ	8
৭। প্রয়োজনীয় ত্রান সামগ্রীর চাহিদা (১) পুর্ববাসন ঃ হ্যাঁ□ না □ (২) আর্থিক ঃ হ্যাঁ□ না □ (৬) বীজ সরবরাহ ঃ হ্যাঁ□ না □ (৪) খাদ্যবস্ত্র/খাদ্যশস্য ঃ হ্যাঁ□ না □	8
তথ্য সংগ্ৰহকাৱীৱ স্বাস্টৱ	8

8

পদবী তারিখ

8

t